
[b] Find Find all intervals over which g  is concave down.  Explain your answer very briefly. 

 

L-1,03 

 

[c] Find the x — coordinates of all local minima of g  .  Explain your answer very briefly. 

,r) 5G1).ovf 

A town decided to build a scenic path from its tourist center to its rose garden. If C(1) = linear cost (in thousands SCORE: 	/  2 PTS 
600 

of dollars per  meter) of building the part of the path  1  meters from  the tourist  center,  explain  the meaning of the equation  f G(h) dh = 100  . 
200 

In Four explanation, give  the  meaning and units of all numbers in the equation. 
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Answer the following questions about the definition of the definite integral as presented in lecture. 	 SCORE: 	/  3 PTS 
(Your answers may refer to the fact that the definite integral equals the area under a curve which is above the x — axis.) 

[a] Why is there a limit (lim) in the definition and why does the index of the limit approach the value that it does ? 
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[b] What is the difference between using f(x;) and f (a + ax)  in the definition ? 	( 1  a 	d'iN1 

u&iisrezvAl_. 	17:7-t,r24...11N*7 	 GLELS 

TExin use. 	poi  /47 	,s; ua) 
Let g(x) =  f  f (t) dt  ,  where f is the function whose graph is shown on the right. 
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SCORE: 

 

/6 PIS 

   

[a] 	Find 00)  .  Explain your answer very briefly . . 

( D)=-- fit))  ----- 	 PD1 f■Ci-  

=-- f CA-kANIGES aoM K 1E-6 ockriv 	Pc6(70.42:? 	) 0=22   

If .f (x)  = 	+ t 2  dt and g(y) = f f (x) dx  ,  find g"  (x)  . 
4 	 -3 

For full credit, you must clearly show the use of all necessary properties of the definite integral. 

SCORE: 	/  4 PTS 
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Math 1B Quiz 3 
7:30am - 8:20am Version A 
Fri Apr 27, 2012 

NAME YOU ASKED TO BE CALLED IN CLASS: 

  

SCORE: 	/ 30 POINTS 

NO CALCULATORS ALLOWED 
SHOW PROPER WORK & SIMPLIFY ALL ANSWERS 

(ANSWERS WITHOUT SOLUTIONS WILL NOT EARN FULL CREDIT) 

Find the error in the logic below. HINT: It is NOT an arithmetic error. 

8 	I 	 2 8 	 ( 2 	2 

12X 3  dx = 3x 3 	= 3 8 3  - (-1) 3  ) = 3(4-1) = 9 

0 ,2)( 1  } 	.1 ,C57-  c_.Q.s-nt.ii)00.K ®X D  e. [-- 
so FTC pprp--1- 2., cAl.tr a v5 E4) 

Find the following indefinite integrals. 
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[a] 
6x 2  - 5 
	 dx . 

V1+10x-4x 3  

L)  *^- ) 410 —. 4)(3  

OtX 

- 	(6.41--5)(2\,/  

[b] 	Find icsch 2  X coth 4  x dx 

L.) = Colin  NC 

C5C-k3->e 

-du 	d,' 
_ u 4  due 

u S 4. C.,  

7:- 5 C 	X 4-  C 
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Evaluate 1 	' 	dx by first multiplying the numerator and denominator of the integrand by 1 + sin x . 
0  1- sin x 
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v-1,.... 	
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